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Greensome:	
  

I	
  Greensome	
  slagspil	
  er	
  parrets	
  spillehandicap	
  lig	
  med:	
  	
  
Laveste	
  ”spillehandicap”	
  x	
  0,6	
  +	
  højeste	
  ”spillehandicap”	
  x	
  0,4.	
  	
  
Der	
  rundes	
  op/ned	
  (0,5	
  og	
  over	
  rundes	
  op).	
  	
  
Eks.:	
  Spiller	
  1:	
  spillehandicap	
  på	
  5	
  og	
  spiller	
  2:	
  spillehandicap	
  på	
  16	
  	
  
Dvs.	
  (5	
  x	
  0,6)	
  +	
  (16	
  x	
  0,4)	
  =	
  9,4	
  som	
  afrundes	
  til	
  9.	
  	
  

Eksempel:	
  	
  

Samlet	
  spillehandicap	
  hold	
  A:	
  3	
  slag	
  

Samlet	
  spillehandicap	
  hold	
  B:	
  9	
  slag	
  

Hold	
  B	
  har	
  altså	
  6	
  slag	
  på	
  Hold	
  A,	
  på	
  handicapnøglerne	
  1	
  –	
  6.	
  Øvrige	
  huller	
  spilles	
  fra	
  scratch.	
  

Begge	
  spillere	
  fra	
  hvert	
  hold	
  driver	
  ud.	
  Det	
  bedste	
  drive	
  vælges,	
  og	
  man	
  skiftes	
  herefter	
  til	
  at	
  slå.	
  Den	
  
spiller,	
  hvis	
  drive	
  er	
  valgt,	
  må	
  naturligvis	
  ikke	
  slå	
  ”andetslaget”.	
  NB:	
  Driver	
  begge	
  spillere	
  boldene	
  out	
  of	
  
bounds	
  eller	
  tabt,	
  må	
  kun	
  én	
  spiller	
  drive	
  om.	
  Partnerne	
  	
  

bestemmer	
  selv	
  hvem,	
  og	
  vedkommende	
  skal	
  slå	
  fra	
  partnerens	
  teested.	
  	
  

Der	
  er	
  ikke	
  Mulligan	
  på	
  første	
  hul.	
  

Provisorisk	
  bold	
  ???	
  Hvad	
  hvis	
  der	
  er	
  tvivl	
  om	
  nogle	
  af	
  drives	
  kan	
  findes,	
  så	
  slås	
  der	
  en	
  provisorisk	
  bold	
  
Forslag	
  til	
  tekst:	
  

Provisorisk	
  bold:	
  Hvis	
  der	
  er	
  tvivl	
  om	
  at	
  hverken	
  første	
  og	
  andet	
  tee-­‐slag	
  kan	
  findes	
  slår	
  1’ste	
  spiller	
  en	
  
provisorisk	
  bold,	
  hvis	
  der	
  er	
  tvivl	
  om	
  den	
  kan	
  findes,	
  slår	
  anden	
  spiller	
  en	
  provisorisk	
  bold.	
  Hvis	
  ingen	
  af	
  de	
  
to	
  første	
  bolde	
  findes,	
  vil	
  første	
  provisoriske	
  bold	
  tælle	
  som	
  tredje	
  slag,	
  og	
  hvis	
  den	
  ikke	
  findes	
  tæller	
  
anden	
  provisoriske	
  bold	
  som	
  5	
  slag	
  !	
  

En	
  provisorisk	
  bold	
  kan	
  IKKE	
  bruges	
  hvis	
  en	
  af	
  de	
  oprindelige	
  2	
  tee-­‐slag	
  bolde	
  findes.	
  
	
  
I	
  fourballs	
  spilles	
  med	
  eget	
  spillehandicap	
  (netto	
  –	
  slagspil).	
  Bedste	
  nettoscore	
  pr.	
  hul/par	
  tæller.	
  
	
  
I	
  singlerne	
  spilles	
  også	
  med	
  eget	
  spillehandicap.	
  Bedste	
  mand	
  spiller	
  fra	
  scratch:	
  

Eksempel:	
  Spiller	
  A:	
  12	
  slag.	
  Spiller	
  B:	
  16	
  slag.	
  

Spiller	
  B	
  har	
  altså	
  4	
  slag	
  på	
  spiller	
  A,	
  på	
  hcp.	
  nøglerne	
  1	
  –	
  4.	
  Øvrige	
  huller	
  spilles	
  fra	
  scratch.	
  

Der	
  gives	
  1	
  point	
  pr.	
  vundet	
  match,	
  ved	
  lige	
  efter	
  18	
  huller	
  1/2	
  point	
  til	
  hvert	
  hold.	
  Der	
  spilles	
  altså	
  i	
  alt	
  om	
  
12	
  point.	
  

Der	
  er	
  Mulligan	
  på	
  første	
  tee	
  i	
  Fourball	
  og	
  Single.	
  Hvis	
  spilleren	
  vælger	
  at	
  slå	
  en	
  Mulligan,	
  kan	
  den	
  første	
  
bold	
  ikke	
  benyttes,	
  og	
  anses	
  derfor	
  som	
  tabt.	
  

Skulle	
  matchen	
  ende	
  uafgjort	
  –	
  altså	
  med	
  6	
  point	
  til	
  hvert	
  hold,	
  er	
  de	
  officielle	
  Ryder	
  Cup	
  regler,	
  at	
  de	
  
forsvarende	
  mestre	
  beholder	
  pokalen.	
  


